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LOTUS Challenge (OP=0pen, R=Racing, N=Normal)

2014/4/20
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Xig:£Y 0—X: k54

Pos] PIC [No Driver Type [Best Tm[ DELAY [ GAP CAR Shop/Team
T JOP-1 20 [ZE F mFe |GHI117 58.472 - - 91 T F—F
2 [oP-2 19 [8RA E ABA1117 58.636 0.164] 0.164|WTR IDC EXIGE-S AT A —k
3 [N-1 25 [ERIJI 1IE [GHi11 58.948 0476 0.312[s1T% K-one

4 |oP-3 | 21 [#&H# & |GH1117 59.016 0.544] 0.068[WTRYA T A—FTFL—C [HALFF—F
5 |R-1 26 [FBEE AHE  |[GH1117 59.308 0.836] 0.292|#FE 77 FALSCTFL—2|K-one

6 |N-2 24 kA FZ  [GH1117 | 1:01.047 2575 1.739[TafHTFI— K—one

7 IN-3 22 |%7H &£ GH1117 | 1:01.090 2.618] 0.043|WTR SEAMAN2E PR E s
8 [OP-4 | 16 [tBFx HBs  |GH1117 | 1:03.066 4594 1.976[T¥>—>s TKROIT
9 [R-2 18 |ILH FI& GH1117 1:03.894 5.422| 0.828|WTR kv A EXIGE AT F—k
10 [N-4 23 [/ 2EE 111 1:04.636 6.164] 0.742 YL A —F
11 [OP-5 | 17 |#8% AM |GHI117 | 1:04.865 6.393] 0.229[TF—2 K—one

12 IN-5 27 | X8 E& [GH1117 | 1:05.154 6.682] 0.289|KEN2TF—> K—one

BMW Challenge (B/OP=0pen, B/R=Racing, B/N=Normal)

EURO-OPEN (E/OP)

/ E2000 Challenge (E/R=Racing, E/N=Normal)

KiE:EY a—R:N\—T9xvk

Pos] PIC [No. Driver Type [ Best Tm[ DELAY | GAP CAR Shop/Team
1 [E/OP-1] 1 [N Xk __ [E46 1:01.437 = —  [K-one BMW 46M3 K—one

2 |B/OP-1] 15 [FA =xl& 1:03.271 1.834] 1.834]320 K-one

3 |IB/R-1 | 4 [#3L 5sh [BE19 1:05.501 4064] 2.23|GARAGE#:ILI68EE GARAGE# L
4 |[E/OP-2| 31 |hngk #th  |E89 1:05.613 4.176| 0.112|TK Racing 74 TKAHIT

5 [B/R-2 | 9 [/Dl I 1:05.850 4413] 0.237|TK Racing 318is TKRAOILT

6 |B/R-3 | 6 [#2i = [BE19 1:07.602 6.165] 1.752|GARAGE#AIL102 #2i#@%S |GARAGE#ALL
7 |B/R-4 | 7 [#HA FHZE [BE19 1:07.923 6.486] 0.321|GARAGERAIL HEHEE GARAGE#3 L
8 |B/R-5 | 8 |itfk #LEE  |BE18 1:09.527 8.09] 1.604[Taylor-318is GARAGE# L
9 |IB/N-1 | 11 [;ZH ®H5H CG19 1:09.560 8.123| 0.033|ASP MTH#a%EtiZEFIVer ASP

10 |[E/R-1 | 47 [ K BE  [s2s 1:09.897 8.46] 0.337|[Dock106 H—KvHR X%
11 |[E/R-2 | 13 |EE B S8NFS 1:10.199 8.762| 0.302[\HH)=wH %oy |HL—Io0D
12|B/R-6 | 5 [4EM H##t [BE1S 1:10.509 9.072] 0.31|GARAGE#AIL32EE GARAGE#ALL
13 |B/N-1 | 10 3RA EIE  [BE19 1:10.706 9.269] 0.197|NOBA—Evr7ZAFLBIZKR [T-Factory

14 [E/OP-3| 2 i3 B— E36M3 1:11.327 9.89( 0.621[ASPIE#fiRM3it FHSPL |ASP

15 |B/OP-2| 3 [i&/K X  |CN30 1:11.892]  10.455] 0.565|ASP MTH#:EEREZ3 ASP

16 [E/N-1 | 29 [#5K ZE#t  |AR01608 | 1:12.098] 10.661| 0.206|51Za> /L 211) 71969 |K-one

17 [B/N-2 | 28 [ILA =Eth |BE18 1:17.113]  15.676] 5.015|ASPA*<4% SPL ASP

18 |[B/N-3 | 12 |[#iKk #mK [cG19 1:19.343] 17.906] 2.23|ASP318tATF *A%: ? ASP

19 |E/OP-4| 14 |E&#& EBEA  |M3C 1:25.561 24.124] 6.218|ASP INSIDEZ/\ ASP

20 [B/R-7 | 77 [#F & e — - - [318is GARAGEALL




